NTO

FAREH R ++ ExRy b

Enclosure for Factory Automation Equipment

FUL(-ES),(-N) type

HnifshEAE

Instruction Manual

BEL\J:H'L\T—CTL [

HIHESTE

COHBAER. BTHRELTCEE
Thank you for choosing our product. Please read this manual carefully before use.
Please make sure that you will not lose this manual.

B2 FDOTEE

Safety Instructions

L\i@% THERADHEIICT

SAZEICETHD L ELLBENILEN

BRICBEOWVEEKEHDIEZEEZHALTVET, HTETFIULEEL,

6. BEREUNDERIHIERETRLETATVET,
It explains precautions it for use the product correctly. Please be sure to observe.
Electrical work shall performed by qualified personnel.

EZ .tl:
WARNING

may lead to death or severe personal injury.

REFREGZBIBINDGHEBRHRERAZTRLET,

Indicates that a dangerous situation will arise which,

BFVN<KABRZRDHEEST
RALTWET,

Instructions are labeled by the following

symbols depending on how to deal with.

NEE

CAUTION

BIEEIIPEEDE

EEBLBZINDHEEREIRA
BLUMHNBEORETEHEZTN D HS5E5ZRLET,
Indicates that property damage may result or a dangerous situation will
arise which, may lead to minor to medium personal injury.

A ARID

Should heed.
LTIEWFEND

Must not do.

%Y T

Must do.

BiET EDT3EE Instructions for Installation

/\ Z 45 WARNING

T—AE&X
Connect to
the Grounding

s (PE ) ZFIALT,
REORRNCGIET,

(Fv Exy b OEMEE T (PE ) &/ \BrE#EIE 75 mi)

Be sure to use the earth terminal (for PE) to make a ground
connection. Failure to do so may cause electric shock.

(The minimum cross-sectional area of the earth terminal (for
PE) of the enclosure is 75 i .)

T REEBTIToTIEED

O

Bug T (PE ) EERQLITIE. 7—ARGREZERLEWNT
IREVERE - AKDFERICEVET,

Do not connect an earth wire to the earth terminal (for PE)
fixation screw. Doing so may cause electric shock or fire.

®

SREER- TERO7L— - AL BEOEEICISETES
EANTLIEEWV B ESZ ANGOEERBHAEN R,
RETHHETNHDIET,

Insert the toothed washer to fix the steel mounting plate, cable
entry plate and screw clamp. If toothed washer is not inserted,
electrical continuity can not be obtained and there is a risk of
electric shock.

TREFREDH ZEMmICRERICERE LTZEL

ET D - BEORRAICEZVEY,

Securely fix the enclosure to a wall surface with sufficient
strength. Failure to do so may cause fall, injury or breakdown.

AYDBEIEEMDD 2 AU ETHEN - FEFEEZTOTR
ETVSET D DRRICEVET,

Because of its weight, 2 or more persons are required to
install and remove the unit. Failure to do so may cause fall or

BRIEGE ML) IF BEEENTOTIZEWY

& - RE - D DRREICIZVE T,

Electrical work (installation and construction work) must be
performed by qualified personnel. Failure to do so may
cause breakdown, electric shock or injury.

BRIER ERRERITELE) XU TR ZESFL.
HITEADERERE L TEEN HE-EE - ITHDREIC
BTVET,

For electrical work, strictly observe the "Technical Standards
for Electrical Equipment" and "Internal Wiring Regulations,"
and be sure to use a dedicated power circuit. Failure to do
s0 may cause breakdown, electric shock or injury.

EREEICH I HEM I NIV ZERTLTLEE

BRE - IDDFRERAICEIET,

Please attach a warning label for dangerous voltages. Fail-
ure to do so may cause electric shock or injury.

injury.
I =z
A /i =

CAUT

ION

AEBISE TG EDRNEEEZEZHWNTLEL,
ADZIPEHDREEL BEDVETORRAICZIET,

Do not fall or other strong impacts for the product. Doing so
may cause dents or distortions and reduce the strength of
the product.

AEBZEETELTCOEWRETR 7 ZRIT GO TLIREW,
R7DEHTHRBGBDEE L. THPEREDORRICEVET,
Do not open the door without the product secured. The weight
of the door may cause the product to fall over, resulting in
injury or breakdown.

ABGIEERARTT, FULEN) (& IP53 (71— 23%) -1K08,
FUL-ES I& IP5X (A7 31— 2%) -IK08 TY . BN CIIFERTE
FHA.

MO BEICESEVRETHEDRAZRLE

This product is designed for indoor use. FUL(-N) meets the
requirements of IP53(category 2 ¢)and IKO8.FUL-ES meets
the requirements of IP5X(category 2 ¢)and IK08. This prod-
uct can not be used outdoors.

2 Dust protection is effective under the condition where the
internal space never be negative pressured.

N

TEMOTL—MoESRPHEHR LY. ADESTTWNTLR
SO, TEMATL— FOBERITHDRREICEYET,

Do not place any equipment or objects on the cable entry
plate or allow people to get on it. Doing so may cause defor-
mation of the cable entry plate or injury.

AEROBIREHE T D IREEANR—AZRRL TLEEW
8 - B 1D DRRAEZVE T,

Ensure that sufficient work space is available when unpack-
ing this product. Failure to do so may cause damage, defor-
mation or injury.

-7 -




VANES -

CAUTION

NERIERR DI P RIRDBRIE, F7ZEE Y 575 E0. BiE
SIEVESICLTLIEEWVI8G EZ B ITHDRAICEDE
3—0

When installing or inspecting internal equipment, secure the
door to prevent it from closing. Failure to do so may cause
pinching fingers and injury.

FrEXRV R EBOEICRETR 7 ZRAKT 2581E. K7 ZE
EI5EELBHESHENRIICLTLIEEWN, RT7DER - 1FHY-
HWECRERICZVET,

If the door is to be opened when the enclosure is laid down,
secure the door to prevent it from closing. Failure to do so
may cause deformation of the door, injury or breakdown.

AEBERAERBEEZBAT
BRLGEWTLZEL, RAEIEEE
BEOLEPEBOERICKY | Maximum ratings voltage
3

Do not use this product beyond LR AC 1000V
the maximum rated voltage. |Upperlimit| ~- 154qy
Doing so may cause deteriora-
tion or damage to the product.

REORE, B TARQ AN T BIERMT LY TS

FTLKIEEVFDMIIDRTDEHE. BRE-EFT-RIEGE

DRERARNCHGIET,

When installing, be sure to tighten with the optimum tighten-
ing torque the earth terminal screw. Insufficient tightening
may cause electric shock, fall or damage.

RLOFY BERET IV N-m
Screw size Optimum tightening torque
M4 12~16
T ARl M6 30~40
Earth terminal screw | M8 % 55~70
M10 13.0 ~20.0

MREZAN—LADTETRHED T 535513.80 ~ 13.0N-m
THEDMIFTLIZEL,
When tightening screws with a tool other than a screw-
driver, tightening 8.0 to 13.0 N-m.

7N\ OHEREUS OB, RIS I sEB B Z B A CH A
FEWTLIEE W, R7DERZ L. BiZK - BHEEMEARIE R DIRE T
BUET,

When mounting a device on the door, do not exceed the
mass of the device that can be mounted. Doing so may
cause deformation of the door and deterioration of the
waterproof/dustproof performance.

SWITTE width (mm)
600 700 800 900

600| 11kg 9kg

800 | 12kg | 10kg 8 kg 6 kg

NIy By

7 11000| 14kg | 12kg | 10kg | 8kg
Height

mm 1 1300| 16kg | 14kg | 12kg | 10kg

KRTAEEITERIA S 5 E OMERITTTREE =
Equipment mountable weight when mounted
evenly on the door

)

i T A1 L2 @IER Lo TR T Tk, Silkesie L
KEEVE@HNENTWGEWERE - KKDRRITEVET,
After tightening the earth terminal screw with the optimum
tightening torque, check for electrical continuity. If the electrical
connection is not established, it may cause electric shock or
fire.

F77EERCEMANICIE. &9 F7EERLE M5 ZEITIFTL
TEEWBAK - BAEEMAEIR FDRRICEVE T,

Be sure to install the door fixation screw M5 in the door fixation
screw mounting hole. Failure to do so may cause deterioration
of waterproof/dustproof performance.

R77 D ETEBICEHIXREA DTy a BN T E T, ik
FIFATHEVTLREVEERIC Ty ahBm0NE FrE
v hHERLT IP DO NGWRRICEYE T,
RERIFEALTIZEL,

A bush for transportation is attached to the top and bottom of
the door. Do not remove them during transportation. If there is
no bush during transportation, the enclosure may deformed
and IP performance may not be obtained.

Remove them after installation.

BEARN\DOREREUT DRRIE. #ERE Al ReE 8 &8 AV
FEWTLIEE WV BIRDER - Z T L. #MEDCRREGSHZN
DHIET,

When mounting a device on the mounting plate, do not
exceed the mass of the device that can be mounted. Doing
so may cause deformation of the mounting plate and fall,
resulting in a breakdown.

B@BIATTE width (mm)
600 | 700 | 800 | 900

L 600

an

72_ 800

+ 130 kg

& (1000

Height
m | 1300

HREMRNGEICIIN S TIHE ORI e E &
Equipment mountable weight when mounted
evenly on the mounting plate

FrEXY FOEREANDOEUGIFICIE. HFF T3> TELA
BEE[EX-ZD =R L. FRGAREICERICEIE L TIEEL,
Bnff)- B - IO RRICGVE T,

In case the enclosure is installed on the floor, be sure to use
the optional "self-support base [EX-ZD]" and fix it securely to a
flat floor surface. Failure to do so may cause a fall over, defor-
mation or damage.

FrERY FORNEFEALGEWEEIE. BTRHBONIEE
AL, NZENTLLEV K PIRDFAICKY, HFE-RE-
IDDEZNDBIET,

When mounting holes of the enclosure are not used, be sure
to use the accessory hole plugs to block the holes. Failure to
do so may cause breakdown, electric shock or injury due to
the influx of water and dust.

VRN Bt (B
Mounting hole Part name (accessory)
EREUTN 7 413
Base mounting hole Plug
e 7 410
Mounting bracket mounting hole Plug
TA RV BT VANES $13
Eyebolt mounting hole Plug
7RIV R ¢ Rt & BERA R
(4 DFR) | (4 HFF)

Mounting bracket
> mounting hole
., (4 locations)

Eyebolt mounting hole
(4 locations) o
1 T |

|

i

gamgr I

(4 HFR) L
Base mounting hole &
(4 locations)

-)-




VANES -

CAUTION

FERATHRLPFTY MIEEINEDZERALTIIEL,

B H T ORI GBIERET b LI ICTREDA T TZEL,
FOMTIDHARTDEIHERIE ET. IP HEEHESNGENERE
DRENCHENE T, Ffe. HHMPBEDHZEIE. RCILZHEIE
TEBZTNDBIET,

Please use only the specified screws and nuts. Tighten with
the optimum tightening torque when installing. Insufficient
tightening may cause damage, fall or IP performance may not
be obtained. If over tightened, the screw head may become
damaged.

REDOFET BWIERAT MV N-m*1
Screw size Optimum tightening torque
B/ TEEO7L—MEERL | M5 1.8~29
Door/Cable entry plate fixation screw
RARZY Ryl M6 29~ 4.4
Boss stud set screw
HREEARE T L M8 7.8~137
Steel mounting plate fixation screw
M4 1.2~1.6
T AL M6 30~ 40
Earth terminal screw Mg 2 55~ 70
M10 13.0 ~20.0

X1 2L S 24 bRLICE W TRIEFDITER MLV I ZDRRY
TlEHIERA
This does not apply to the initial torque when tightened
with S-tight screws.

%2, FSAN—LNDTETHEDMIT 255,80 ~ 13.0N-m
THEDFFTLIELY,
When tightening screws with a tool other than a screw-
driver, tightening 8.0 to 13.0 N-m.

FreExy FOBRMNZFERALTF v ERY MRV 5156,
FrERy MEABSKIUBEMOEE MUBGEEZERD L.
BEEARLZRELTLEV Feohd 4 DA CEELT
<fEEL,

When installing the enclosure using the mounting holes of the
enclosure, select the fixing screws considering the enclosure
dimensions and the weight and position of the mounted prod-
uct. Also, be sure to fix it at 4 locations.

{7 o 10)
Mounting hole Screw size
EBEIIN
Base mccl)unting hole M12
IS AR M8
Mounting bracket mounting hole
T4 R MR M12
Eyebolt mounting hole

(A7 >avN\—YDTENR]
Introduction to Optional Parts

2L mEEes
Name Product symbol
TARIVLMEY
Eyebolt set BP16-M12E

AT avEFEDEWVSREIIBESEFERALTIIIEL,
AESEFEALGVEFrERY MOERELT IP HEELESN
HUOERERICEVETD,

Use a square washer if you do not use the optional parts. If
the square washer is not used, the enclosure may deformed
and IP performance may not be obtained.

BENFETHEWNES, FYEXY DU TH F7HEETERVBENLBYE T AN—YREICKNRT —E R 7 DB RE AR
LTLIEEW, F7EFERCOREIL P10T@ R 7EERCDHRAESEIZSRLTIIIEL,

If the wall surface is not flat, the enclosure may become distorted and the door may not be held in place. In such a case, adjust the
position between the body and the door with a spacer, etc. Regarding the adjustment of door fixation screws, refer to P.10 “@Adjust-

ment of the Door Fixation Screw .

(F8%757% How to adjust]

cH 1 DOEINCVOTHONECTIHZE R3O D
AREBEDEICANR—H IR EZ ANTLLEEL,

K2 DEINCVOTHONELCTIHZE R33NI D
AREBEDBICANR—H T2 EZ ANTLEEL,

« In case of distortion as shown in Fig. 1, place a spacer, etc.
between the body and walls of @ { in Fig. 3.

« In case of distortion as shown in Fig. 2, place a spacer, etc.
between the body and walls of @ { in Fig. 3.

@
{

1 X 2 X 3
Fig.1 Fig.2 Fig.3




B{ER LEDTFE Instructions for Use

/\ Z 45 WARNING

O

RDESIFGFCIIERLEVTLREVHE- 1TDDRRICEIET,

Avoid using this product at the following environments places. Doing so may cause breakdown or injury.

c BIREG DGR - BEICER DT A IV A S WG - BEMME (D— RVl @B DHBIHH
- BRRIELGHI5 - FIREH R DB BIEPR BN EZEATTER

- BETERDZ (T D5 - FIREA R DRND ETNDH B35 - /AR (BFREEF) DIRUVSEPR

- BEMHRDBH B - 1IR3 EEDH D5 - BRI O DB

* High-temperature environment + Place with excessive dust/oil mist * Place exposed to conductive dust

* Permanent high-humidity environment - Flammable gas environment (e.g. carbon fiber dust, metal dust)

* Place subjected to radiated heat + Place with a risk of flammable gas leakage - Salty environment

- Corrosive gas environment + Place subjected to vibration/shock + Place subjected to loud noise

(Caused by an electric/magnetic field)
+ Place exposed to solvents

®

REBEOEATEIER (R L. 7Y b R EDBEHPPZHHE WD EHNICRRL TR TV EH DD S5 IR DEH DB 555
IBERERS b ILY TRDMIT TR EVBIESE T P HEREDMESNGE VR EDRRICEVET,

When using the product for a long period of time, periodically check the mounting parts (screws and nuts) for damage or looseness.
Replace them if any damaged parts are found and tighten them with the optimum tightening torque if they are loosed. Failure to do so
may cause damage, fall or IP performance may not be obtained.

/\ X Z CAUTION

é R7EBOKCEADEWTLEEWIEREZ I (THDERA D) A— DO - R B LN Tl F—Z BT | EHhD
— | [THEET, BWTLIEEW F— Y2 —DEDORRICEVE T,
*Eﬁ,ff Do not close the door vigorously. Doing so may cause pinch- ® Do not pull the key in any way other than the lock/unlock posi-
Kei%zf\wsy ing fingers and injury. tiolr_1 zf the cylinder. Doing so may cause damage the key and
KA B HIFR T, BB N 7 A B £ E I LT oyinaer
TOVHRT Y bDEBBITEY ., F v ExRY FDBRK- BHEEMRE ERREHFIL —5°C~ +40°CT. 24 BFREIDFIMEIE +35°C
ETORRENCHEIET, LR T FEREEIL +40°COMEMEED 50% LU F T,
Do not keep the enclosure door open for a long time under X - REROBEESERHEIL—25°C~ +55°CT9,
the sun. Doing so may cause deterioration of the gasket may The ambient temperature should be between -5°C to +40°C,
cause deterioration of the waterproof/dustproof performance and the average ambient temperature over any 24 hour period
of the enclosure. should be +35°C or less. The relative ambient humidity must

be 50% or less at +40°C. Keep the ambient temperature from
-25°C to +55°C for transportation and storage.

KOG EDED VKRS DIHAT CIER LRV TLEEL,
ARy EDHIITK) Fv ERy FDREK-BEEEEREET D

FRRICTEVET,
Do not use the enclosure in a place where it is continuously
exposed to water or oil. Doing so may cause deterioration of

INY RIVEHERICEASD TR EW D DRERICEVE T,

Be sure to close the handle. Failure to do so may cause injury.

the gasket may cause deterioration of the waterproof/dustproof 2B —DHESE - RS T BEEA SNBSSV A —IT
performance of the enclosure. MR EE E R LT,

KT BRI 1037 T, . . F—DREFELLELLEDBEZTNLHIET,

R7 &I REECEROREAEIC 0 If the cylinder is locked/unlocked frequently, key lubricant
EHICRIEEENTHEWLTLIEEL, " Cox should be applied periodically. Failure to do so may cause the
eI N R DR - BB O EE \ — key become hard to insert and remove.

ITBEVET, 103° " NN :

The opening angle of the door is %{Eﬁiﬁ%ﬁgﬁ%@%@é?giﬁ?ﬁfﬁ@%t)|/7T%%5751THT<

approximately 103°. Do not apply

additional load in the direction indicated by the arrow in the
figure with the door open. Doing so may cause deformation or
damage the hinges and doors.

Regularly tighten with the optimum tightening torque the
earth terminal (for PE) screw. Failure to do so may cause the
terminal screws become loose.

NYELDIUS S~ F—EELARIET, F— I *oRERESLTERL TN - BE- D ORE
RHEERHIEVTEN, F— 21>~ ORIRDEEIC lc5)& T, - .
UEXR Key must be managed by administrator. Failure to do so may

Do not apply a strong shock or load to the key while it is cause breakdown, electric shock or injury.

inserted into the cylinder of the handle. Doing so may cause
damage the key and cylinder.

‘ FvEXy FBEERDOFNRPT A ERY OTEE  Precautions for soiling of enclosure painting surfaces and wiping of marking lines

ENR T AR ERSEIE. POSHVRTEIIHNTIEEL,
BN T AFRERETIWBRIE, BUGEWVSRTREAMEE GV EZRRLTIREL,
TIWA—IWPRY IV B EDBRRZE FERICGES L. BEAMEGEZTNLHY KT,
+ When wiping out dirt or marking lines, wipe them lightly with a soft fabric.
» When wiping out dirt or marking lines, make sure in advance that the painted surface will not be damaged in an inconspicuous place before.
+ When alcohol, benzine and other solvents are used, there is a risk that the painted surface will be damaged.




W7 INT - B 7R DR LM DWLT
Caution on Hole Processing and Mounting Hole

/\ X E CAUTION

%#'\" t\\?\“/ '\Li UL DIL\DEDDTa_ (iDDglef 1300 mmo) FUL N iDIL\DE%)

FrERY FOREFREHRF I HHIC FrERY NEROESEMI - EEOEBNEEEUIIN - KED 71 7R b MEUTRITIE, HEUD
TUHREEEISIFBDN Fr ER Y FERIZFDRESFRD UL SRR (UL VX Ty FERIE UL L OV FA4XR) OFREEZRIUMIFTLIEE
This enclosure is UL listed. (1300mm-height-model of FUL-N is not covered.)

To maintain the degree of protection of the enclosure, attach the provided hole plugs to the base mounting holes on the bottom face of
the enclosure, mounting bracket mounting holes on the rear face, and eyebolt mounting holes on the top face, or attach a dedicated
device of UL certified product (UL Listed or UL Recognized) with the same degree of protection as the enclosure.

247 (UL REXD IREEIRIE (1)
Type Using section | Protective environment
: BN TS
Indoor Falling dirt

v Xy M EN62208 [CE DL TUV EEER THBIE T,

BIDFINTE LORES KU (FBD 7 W E BT T REE CERAE A ES L TLN B T8, TUINT (A TOBMDINNT 2S5 6) 2 LI HE
PABDIMEZEALEVESIE. JBBERNDELENSREIRE (FUL(N) @ [REZHK IPS3 LI, FULES : {REEHR IPSX LIT) I
RE>BUGEE® (TUV SRitmE fcld CE EE MR ) ZEA L. BhEE - BAKIEREZ MR L T<EE L

0 This enclosure is also TUV approved based on EN62208.

As the products are certified with no additional holes and with an attached provided hole plugs, if the additional holes are processed
(including additional holes processed by us) or do not use an provided hole plugs, please maintain the dustproof/waterproof perfor-
mance by using appropriate components (TUV certified products or CE declared products are recommended) commensurate with the
installation environment (FUL(-N): protective grade IP53 or below, FUL-ES: protective grade IP5X or below) required by the customer.

ﬂbﬂILiﬁ%%%HRﬁﬁ%@?@%buI%ﬁP\]LCDDILZ<TC$L\O§E%’\0)7JDIL¢ IP HEEDMESNEWREDRRICHEVE T,
INTEEDFMIE AR OY - ARSI TS

Drilling should be performed within the recommended ranges shown in the effective drawing for equipment installation. If the holes are
drilled outside of the recommended ranges, IP performance may not be obtained. For details on the scope of processing, please refer
to the catalog and delivery specifications.

TUNT LTeBBE =R/ Z v A UG ETRREICBHREL. 2y F77 v TRA > b (41505 BP81) 5 E TRIEZT > TL e
BEHORETHHEZNHD Y ET, Ko NI LIEBEICER VT 23—V IP HEEICER LI D& ER L REFRICTS CliE %
T2 TLIREWVIP HEEDNEONGZEWVGEEDRERRICEVE T,

After drilling, be sure to remove protrusions and burrs with a file, etc., and make corrections with touch-up paint (our model number:
BP81), etc. Failure to do so may cause rusting. Also, for parts to be installed when holes are drilled, use parts that match the IP perfor-
mance and take measures according to the protection class. Failure to do so may cause IP performance may not be obtained.

W2EZDT;FE Caution on Repaint for Changing the Color

/\3¥ & CAUTION

AETI UL SREESR (RUFAZ 7<% 1300 D FUL-N (ZEBEES) KT EN62208 (<& D TUV EREER T
i&tim*id)i ETY5 BEHE BRHCRESNS e BEZZT OGRS EOBENEZVE T Fles UTOEEFEZHFIWN
ERFBEWEE, FrEXy FORRK-BHEEREEZE TS ERRALGVE T HEREE B EEVEE. KPERODBAICKY, HE-KE-
IHDBEZTNHBIET,
c ARy MR LIEWTLIEEW BAK BAEIERED L& LB IC AR Ty MRD S DR EBHHIE - RE - T HDRERICZVE T,
s ARy b ERIDNEGWVTLLEW. RARZ THEW W TH B MR ZRIF CET e,
A This enclosure is UL listed(1300mm-height-model of FUL-N is not covered.) and TUV approved based on EN62208.

As only specified painting facilities and coating material is approved on paint, it will be out of the certification if you repaint the enclosure
by yourself. If the following notes cannot be conformed, it causes the deterioration of the waterproof/dustproof performance. If the
required performance is not met, there is a risk of breakdown, electrical shock or injury due to influx of water or dust.

- Do not paint on the gasket. Doing so may cause deterioration of the waterproof/dustproof performance, as well as cause breakdown,
electric shock or injury due to paint debris from the gasket area.

- Do not peel off the gasket. Even if you prepare alternative, they can not be good enough to maintain the waterproof/dustproof perfor-
mance.




W 70BN AL How to Remove the Door

1. R77% 90° LU EIRE<,
Open the door to 90° or more.

90° Ik

90° or more

=

® F 7 DEfIAE How to Install the Door

BN LDOBDFIET K7 2B T

rEW

Reverse the removal procedure to install the door.

\

2. R IR OBIEROMRERIIN T,

3. BBELEDEFIERS

AEB5EM Details Part A

Remove the plastic components at the
leading edge of the hinge pin.

EIliEES O

Plastic components
m—p

BREC
Hinge pin
Pull out the hinge pin.

f

/\ 7 E CAUTION

DY R 7 ZERATRETIREL T EE

O

Lo R7HBEE LTI D - B ORRICENE Y,

Be sure to support the door while working. Failure to do so may cause the door falls and causes injury or deformation.

W& 2D F5- 114 Names and Specifications of Each Parts

7 AR SEAETR

Eyebolt mounting hole

SRBLEAR

Steel mounting plate

— S ANJL Product label —

EIEI'IQ_I na"ﬁ
Product name

C€

(&)
N/

Standard enclosure

MODEL  [50000()

G|

/NITTO KOGYO CORPORATION'

s Ov b&ES ULZaTHRR

Lot No. UL type indication
2 - J
| >
I// o i i
i O o3 ] ‘
Lock receiver \ [ ' Il
N il I R . o
K R il WEATvYa
S (EF 2 57
. \ Bush for transport
v K7 / \ (Upper and
Door & g S lower sides)
P\ RJb (If_FIEIZI’%*gﬁt)‘ M5 RUCIESHEE 7 TEEOsL— éja;égt/ "
P Nz . . .
17 handle (FUL(ES) D) (FULCES) gy Cable onty pite RO AN AN v
Door fixation screw M5 Screw clamp Boss stud set screw M6
(Upper and lower sides) (Upper and lower sides) s+ (PEA)
(Only FUL(-ES)) (Only FUL(-ES)) Earth terminal (for PE)
BERES ERRE SIFRAEES EAMEE General performance
Applicable directive Applicable standard Accreditation body - ERA Indoor use
EN60204-1 (-ES D) CEB2EE . %2Y :
(Only FUL-ES) EC declaration of conformity IP>3 (Category 2 >‘<2) FUL(N)
EEEES CEEEE= - IP5X (Category 2 *2) : FUL-ES
Low Voltage Directive EC declaration (F conformity + IK08
EN62208
. TOV 583 _ X2 WEBD\EEICE SR VKR THEDRAZ R LE
TUV SUD Product Service Dust protection is effective under the condition
B 51 UL 535 where the internal space never be negative
UL50. ULS0E Typet Underwriters Laboratories Inc. pressured.

1 BEAZT~E 1300 mm D FUL-N (& UL EREEA

1300mm-height-model of FUL-N is not UL listed.

-6-




@{JEf Accessory List

B £ HE &
Part name Shape Quantity Usage
72 10 @ 4 RF—EEN
Plug ¢ 10 Body rear face hole
TG 13 @ 8 RT—KERE@N
Plug 13 Body top face/bottom face hole
F7EER L M5 <§> 5 R7EE (FUL(ES) DF)
Door fixation screw M5 Door fixation(Only FUL(-ES))
RURILA— ) R7EER COKIFIES (FULCES) DF)
Screw holder ‘!_l,' Retaining the door fixation screw(Only FUL(-ES))
7—25N)b 5 7 — A BGEROER
Earth label = Labeling the place of ground connection
PE S X)b PE DFR
PE label ! Labeling PE
F— (F—NoN200) *_. N R)Uitese
Key (KeyNo.N200) D ! Lockup of the handle
TEEOZL— rEERL MS 4 TEEO7L— NEE
Cable entry plate fixation screw M5 U Fixing the cable entry plate
BT EES 5 . 5 TEEATL— bEET CLHA
%f i% Concurrently used with the cable ent
Toothed washer M5 Q plate fixation scorew i
= N
Fv kM5 (S TEFOT L — FEER UG
4 Concurrently used with the cable ent

Nut M5 = plate fixation screw i
EHIE TR L M4 % 18 EHET
Earth terminal screw M4 Earth terminal
EimF Rt C M6 @ 2 BT
Earth terminal screw M6 Earth terminal
s AR C M8 % 2 e
Earth terminal screw M8 Earth terminal
EiEF A C M10 @ ) BT
Earth terminal screw M10 Earth terminal

— s F AR C M10 &6
BT AT EES 10 . Bl .

; : 2 Concurrently used with the earth

Earth terminal plain washer 10 @ terminal scrgw M10
Earth terminal spring washer 10 o Y w110 eea
HiRaREAE (4D 1

Instruction manual (This paper)

ME{1/57% How to Install the Enclosure
BB IUREITIETR A TEULEDAR-IERRERLTLEEL,
BEPRXICRE T AMRIE BEED S TR B A EBEL TERWUATIF TLEELN,
For installation and removal, provide a space of at least dimension A in the figure below.
When installing the product on a wall, keep it at least dimension B away from the wall surface as shown in the figure below.

(B Unit : mm)

B
SQETHYTE| ®EIATTE A& B<&
Depth Width dimension A dimension B
o ‘ o 600 935 145
700 1035 170
350
. . 800 1135 190
i 900 1235 215
\
\ 600 1085 145
\
< W 700 1185 170
W 500
\ 800 1285 190
\
\\\ 900 1385 215
\
Y a B




B+ EXyFRBEDETET Internal Temperature Calculation Formula
ERREDOF 2y NUBEERSHHERTT, BRELTTRALEL,

The following is a formula to obtain an approximate value of the temperature inside the enclosure (when the enclosure is
used as an indoor cabinet).

P e 8 R °
T= —— +T1[C] T RYIANEE [°C]

Uxs Temperature inside the enclosure @ . EEH SO LTSN TNBIES
T EeAUERE [l (BEHMNFERBDIHZS)
MaX|mum outdoor ambient temperature Example : The case where heat radiation from
P RvIAARFEHE (W] the rear face is interfered
Amount of heat generated in the enclosure (i.e. wall-mounting)
U : Bu@iex 5IW/(mi-K)]
Overall heat transfer coefficient S= VY} H+ WXDX2+ HXDX2
S I BREAERE [m] FIE PNk ] Al
Effective heat radiating area Front Top and bottom  Side

W/ \RIVDOEIYEARTE Instructions for Use of the Handle
@F:l77 How to Open the Door
e N\ 4 N\ e N\

= —=>
N J \M/ N

- B

/
k7 BUF IR AT RFEEFHNFIC L
Door FEEL, F7HREET,
Hook your fingertips on Pull the handle toward
the handle. you to open the door.

@FEi% A How to Close the Door

4 N 4 4
G
N ) o o
F7 %S, FEEZHFEET, RFBIDFT 7% FIEMNPIRREICZ 2 e
Close the door and hold the HEZGHSBFA FOUOLLERTRFE
handle. TIFTLEEL, BLTLIEEWL,
Pull down the handle Push the handle with
while holding the door your whole palm when
with your other hand. it is hooked in place.

@577 7% How to Use the Key
F—HENTODOIY—VDERTRHEQICHEZ LI FIFBUA TEEITEDLSICELKNDABN 90° ELTLEEL,

0
Insert the key so that NTO logo is displayed on the left side, or that the keyway is down, and turn 90° in the direction of the
arrow.

F— ((YEm)

Key (accessory)

/\3¥ & CAUTION

é R7EBOE DRV TR E N 5 LR R, FHORRICEYET,

e Do not close the door vigorously. Doing so may cause pinching fingers and injury.
}E}h;%,§\
Hazard
Keep Away

-8-




WY T4 74 DERTAE Connection of the Bonding Wire
RTDRYTAVIETRDESGHECRY T4V 7R (BERTCTHR) 2L TLEL,

R TAVITROREFTRICHEOTEEL,
RDRER Y T4V EEEELTERT 225G R T TRREDIELICT—AINIL (B &) ZREIFIFTIIZEN,
#EthimF (PEA) (CIE PES NI (M &) ZRAVATIF TLIEELY,
SREARD AR 7 27 & BRBEREUT R CE DRI L EBON BN AH8IEICE > TVE T,

BN OBBERS KOHRMEREUTQ LT SERLEEL, (PITHBREERDOEUTHEIZSER)
+ Connect a bonding wire of the door as shown in figure below. Such a wire should be prepared by yourself. See the list shown

below for the diameter of the bonding wire.

+ In case a bonding wire is used as an equipment protective bonding circuit, stick the attached “earth label” near the screw for
bonding.

« Stick the attached “PE label” near the earth terminal (for PE).
- Bonding of the steel mounting plate is structured to obtain electrical continuity by connect with the steel mounting plate fixa-
tion screw.

Be sure to use the attached steel mounting plate and steel mounting plate fixation screw. (Refer to P.11”IAttachment of the
Steel Mounting Plate”)
\ VK
J ) Door
/’/ N ~

R —
Body
SRR \

Steel mounting plate

NYT A VTG
(BERTTHR)
Bonding wire
(prepared by yourself)

| muzmEnL

SREEAMRE T U
Steel mounting
plate fixation screw

T—AINI i s
L Earth terminal screw
(D) \ ‘ (accessory) = TPy
Earth label . N = TR - i
(accessory) E R 74 /7'7 5&1 ERBIEER | (A) BANAE (mi)
(BERCTTHE) Rated operating current | Minimum thickness of
Bonding wire the bonding wire(mm)
Fv kM8 L (prepared by yourself)
Nut M8 ‘r;-’ | =20 2
S S 7=~k 20< | =25 25
PE S N)b T (/R ) 25< | <32
D) = Earth label =
PE label (accessory) 32< | =63 6
(accessory)
RRZ% v K4y bl M6 63< | 10
EHim+ (PER) Boss stud set screw M6

Earth terminal (for PE)




B R EERCOEST - §8EE T 7% (FUL(-ES) Dd#)
Attachment and Adjustment of the Door Fixation Screw (Only FUL(-ES))

O F7ETER COEYTAE Attachment of the Door Fixation Screw
1. RACKRILE—% R7EERCETTUTIREUIAA TLIEE L,

Push the screw holder into the door fixation screw mounting hole.

2. F7EERCMSZE L TRURIVA—IciEmUIAATLZEL, RCHRILE—Q D) (TR
Turn the door fixation screw M5 and insert it into the screw holder. Screw holder (2 pcs) (accessory)
- =
) . _ FULC-8-901C1DBEIF R CLRILA—D
- RLAIL L= (2 D7) | SRR AT TR LA TR,
é{:{eﬁmmllder (2 pes) In case of FULLI-8-9L1[,insert it with
(accessory) protruding part of the screw holder faced to

right and left respectively.
N . . - o~
P IEEA L MS (2 DR K7ERRL M5 (2 57

s (RS 3
\%/Door fixation screw M5 W (SEam)

(2 pcs)(accessory) Door fixation screw M5 (2 pcs)

(accessory)
FUL[J-6-70101 FUL[I-8-901[]

/N\ ¥ E CAUTION

RF7EERCERITF TRRETERIE L E W TLIEE W Fr EX Y FOAER LT IP DSOS NGV REICEVE T,
Do not transport the product with the door fixation screw attached. Doing so may cause the enclosure to be transformation to prevent IP
performance may not be obtained.

®

F7EERQCESUCIE 2T F7EERC M5 ZEUTIH TLIEE W BAK - BIEEMREME T ORREICZVE T,
Be sure to install the door fixation screw M5 in the door fixation screw mounting hole. Failure to do so may cause deterioration of
waterproof/dustproof performance.

ERTHREPFY MIEEEINIcEDZERLTILEL,
HRO)SHF DB IE GBEERES ML IS TRESIIF TIEE L,

BOHIDR+HGIHBE. WIB, ET. P HEAESNANEED RLOFU SRS ML N-m
BRICEVET, £, BOHBEDBAE, RUILERIET 55 Screw size Optimum tightening torque
ZhHBIET, M5 18~ 2.9

Please use only the specified screws and nuts. Tighten with the
optimum tightening torque when installing. Insufficient tightening
may cause damage, fall or IP performance may not be obtained. If
over tightened, the screw head may become damaged.

O K7 ElE R CDiRE T & (FUL(-ES) Ddy) S

Adjustment of the Door Fixation Screw(Only FUL(-ES))

BLLEHSBEERUMZD S ALIEHREERS A FEES SR 5

ZElek) RULLSEBDUBEZRAEITHIENTELT,

(4 bFR)

REANKTF CRVELICEY OFHHREL, K7 OEEHFEE o pney! washer 5
HIRAITEMTY. P
> =] = >

By loosening the screw clamp fixation screw M5 and sliding . hL’ﬂE‘bﬁ'_\EhL’ M5

o R[llkHes _— (4 D)
the screw clamp, the position of the screw clamp can be (EF 2 HFF) Screw clamp fixation
adjusted. This is effective when the installation surface is not Screw clamp screw M5 (4 pcs)
level, causing distortion and making it difficult to fix the door. (Upper and lower sides)

/\ Z 45 WARNING

&

RULEHEEDEE ICIFETER 5 Z ANTLIEEW BTESR 5 Z ANGWEEBHNERNGLGY BRETEIBZTNHLHIET,
Insert the toothed washer 5 to fix the screw clamp. If toothed washer 5 is not inserted, electrical continuity can not be obtained and
there is a risk of electric shock.

RULLHEEZEE L BISEEREDZE L TCFEV EBNIN TWEWERE - AKDRRETVET,
After fixed the screw clamp, check the electrical continuity. If the electrical connection is not established, it may cause electric shock or
fire.

/\ X Z CAUTION

ERTZRLPFYMNIEEENEDZEERLTIEEL,

B ORI BIERT ML oIS TR T TEE L —— s
BORIHFNLIE, B E T, P EEAESNENELD prouo O N e
BRICGVET. Efo. SHHIHBEDRAIE. RULERIAT 55

FNHBYET, M5 18~29

Please use only the specified screws and nuts. Tighten with the
optimum tightening torque when installing. Insufficient tightening
may cause damage, fall or IP performance may not be obtained. If
over tightened, the screw head may become damaged.

-10 -




B TEEO7L—rOEfTAE Attachment of the Cable Entry Plate

1. TEBOYL— b zEfEEe5E TEROT L — MEERCMS TEZE L TREL
Fix the cable entry plate with the attached toothed washer 5 and cable entry plate fixation screw M5.
AR | BEER 5 R 2 SFRICERD T TLRREN
Notice | At the two places of the door side, use the attached toothed washer 5 together with the screw.
2 TFERO7L — FMEERUMSOSERIC, 7 MMSERUAHIF TR E L
Attach the nut M5 to the tip of the cable entry plate fixation screw M5.

TEBAYL—FEERLC M5
(4 DA ((S/Edm)

E)A%ble entry plate fixation screw

BefIEEE 5 (F7741 2 HFR)
(B
Toothed washer 5

22 pcs of the door side)
accessory)

Tk M5 (4 HFR)

(1B
S s Shpes)
/\ Z 45 WARNING
TERAZL— DO R7RIOESNICIE. BETES 5 E ANTLEE WV EES 5 # ANGEWESEEH N BNELGEY, RETRHEZNH

HVET,
Insert the toothed washer 5 into the mounting hole on the door side of the cable entry plate. If toothed washer 5 is not inserted, electri-
0 cal continuity can not be obtained and there is a risk of electric shock.

TEEOYL—bZEE LIS % LT TSV EBH RN TWRWERE - AKDRERERVE T,
After fixed the cable entry plate, check the electrical continuity. If the electrical connection is not established, it may cause electric shock
or fire .

/\3¥ & CAUTION

TEEOZL—MEFERLE M5 DFEIRICIES Y b M5 ZEDHF TLIEEV R CDOFIEOROE L ITHDDREICZVE T,
Attach the nut M5 to the tip of the cable entry plate fixation screw M5. Failure to do so may cause the tip of the screw protrude and injury.

AT HRLPFY NSRS LOEERLTEEL
R DRI EIEST MU I TR TR EL

HONIHFHEIBE, BIA, T, P HEHESNELEED RCONT BIERSIEILS N-m
0 BRICGEYET. E 1o, OMBBEOHAE. RLILERIAT 25 Screw size Optimum tightening torque
ZNHBYET. M 18~ 29

Please use only the specified screws and nuts. Tighten with the
optimum tightening torque when installing. Insufficient tightening
may cause damage, fall or IP performance may not be obtained. If
over tightened, the screw head may become damaged.

WESRUERDET AL Attachment of the Steel Mounting Plate o

HREIRE YL BERUNF BRICEEROES IR TE N, .~ Steel mounting plate
Regarding removal and reattachment of the steel mounting plate, W
see figure right. \ N Job e @ shmas
1R8IV RV — (CBRERET R CM8% 7 L. sl EEE8. 7Y FM8T u o __— Toothed washer 8
BlELC<reaLy, — SBIARE 1L M8
Set the bolt holder with the steel mounting plate fixation screw M8, and . R ‘ Steel mounting plate
fix it with the toothed washer 8 and nut M8. ?Ljil:" TELL;;ED) fixation screw M8
o INT AT
2BERRAE Y L F Y FMBTEELTLEE L, Bolt holder
Set the steel mounting plate and fix it with the nut M8 . (Welded parts to body)
/\ Z 45 WARNING

SHREENRDEE IS BT ESR 8 ZANTLIEEWV, lfTER 8 Z ANGWEEBHENGLGEY RETIETNHHIET,

Insert the toothed washer 8 to fix the steel mounting plate. If toothed washer 8 is not inserted, electrical continuity can not be obtained

0 and there is a risk of electric shock

HEENE EE LRI EEHESE L CKIREV BB BN TWEWERE AKX DRRETVE T,

After fixed the steel mounting plate, check the electrical continuity. If the electrical connection is not established, it may cause electric
shock or fire.

/\3¥ & CAUTION
BRATZRLPFYMIBEINEDEFRALTIIEEL,

BRI DRI SEIERAT ML e TR T TIEE LY, BLOHT EIERAT LT N-m
BORI DR +HHEIBE. B8 - EIEEORRICAYET. £ crew size Optimum tightening torque
BEOMFBEDHBERF RCILERIBTSEZTNABHIET, M8 7.8 ~13.7

Please use only the specified screws and nuts. Tighten with the

optimum tightening torque when installing. Insufficient tightening
may cause damage, fall, etc. If over tightened, the screw head may
become damaged.

-17 -




WiEihinF (PE B) 1l Earth Terminal (for PE) Screw

ABRITIE. M4 18HFR. M6 : 20F. M8 : 20FR. M10 : 2h\FRODEE R F & M8 (2 1 Ff) M10(2 Hf7)
LFTNET (B (fS /& am)
= ° . . . M8 (2 pcs) M10 (2 pcs)
This product has an earth terminal with the following attached screws: M4 (18 pcs), (accessory) (accessory)
M6 (2 pcs), M8 (2 pes), and M10 (2 pcs). 40_,
C Y
M4 (18 HMFr) © @
ﬁ@ & I e e e R
M4 (18 pcs) /,@B (ﬁ”%n)
{ (accessory) ©5° M5 e
o | — M6(2pcs)
i 7 (PE ) o S (accessory)
EERL (2 HFr) @@
Earth terminal (for PE) ~®
@ fixation screw (2 pcs) @©
(2-M6 RRZ&w Kty hal) @ @
/ L s (Boss stud set screw 2-M6) (DO
i T (PEFA)
Earth terminal (for PE) O

L

/\ Z 45 WARNING
#EhimF (PE ) BER CICE 7 — R E2 3R L GO TEEW RE - MK DFERICEVE T,

Do not connect an earth wire to the earth terminal (for PE) fixation screw. Doing so may cause electric shock or fire.
EERCZEWIF IS EEHEE%Z L C<IREV BRI BN TWEWERE - AKDRERETVET,

After installed the fixation screw, check the electrical continuity. If the electrical connection is not established, it may cause electric
shock or fire.

1%,

/\ X E CAUTION
g T (PE ) ta CIEERRMITEIERT ML TROMI TEEVHmFRUADDEHEZTNLABIE T,

Regularly tighten with the optimum tightening torque the earth terminal (for PE) screw. Failure to do so may cause the terminal screws
become loose.

FERTHRLELFTY MITREENcLDZERALTIEL,

B OB GEEST ML TR TIEE L, Btowo o BIERHT AV N-m

WOMIHR+HEIBE, B8 - B TEEORRICEVET, Ee, crew size ptimum tightening torque

OB EDIZEIF RLILERIBT 2EZTNHHVET, M4 12~ 16
0 Please use only the specified screws and nuts. Tighten with the s AR L M6 3.0~ 40

optimum tightening torque when installing. Insufficient tightening Earth terminal screw M8 * 55~ 70

may cause damage, fall, etc. If over tightened, the screw head may

become damaged. M10 13.0~200

% RSAN—LND TETHDMIFZHE1E.80 ~ 13.0N-m
TR TLIEL,

When tightening screws with a tool other than a screw-
driver, tightening 8.0 to 13.0 N-m.

B EDOBEERZEICDLT Disposal Method

/\7E Z CAUTION
0 HMDERICOVWUE ZDEDERITRE > TG FEREZ L TIEEL,

For disposal of the products, please properly dispose of the products in accordance with the laws and regulations of the country con-

cerned.
SESbHhE% « BEROSTREV RV BAERIE. BROEEDTHERADIS. & LU EROERM
Technical Support Dept ICRIBLELET,
SRR Vg ) E L B B B AR | BRI A o (TR L, * MIBBHOEENT. V)V —TE-EHARTHBEE TV EIGEaDHVET,
If you have any question regarding contents of this document, please contact our technical support department. cENBRITHDOD CORADRRESGWNT E=BIIRBTEHILFWNLERA,
TEL(0561) 64-0152  Preqeomaton vy comers s for pang procs,esponding
TE L+8 1 -56 1 -64-0 1 52 * We may use it in collaboration with group companies within the scope of purpose of use.
(ZAIBERTY 8 130~ 12:00.13: 00~ 17 : 30(% + A « BRAIEARIH) * Personal information will not be given to the third party without obtaining the consent of the
< Reception hours>> 8:30~12:00, 13:00~17:30 (JST) (Closed on Saturdays, Sundays and holidays.) individual in advance.
ABGLOBELEITIC K HHEOFROEELZEHO T ECZREBEICOWT HE—UDEREBWVHRET, 20224E118
'fi*ft;&\ B%ﬁ”ﬂé‘\ LLCQE@F%)Z&D\EV)U ij@TZTEK< fc_fb\o November 2022
We are not responsible for any secondary damage caused by our company's foreseeability due to failure or defect of this product. B873066924
Specifications etc. contained herein may be changed without notice. SK-111F
ARIEH®RARH

T480-1189 BHIEEX FHEE 2201 Hi
NITTO KOGYO NITTO KOGYO CORPORATION

ONITTO KOGYO CORPORATION -12- 2201 Kanihara, Nagakute-shi, Aichi



